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If it also loses the 3d electrons, forms

ltanium usually forms one of two ions:

o
= n =]
o) 5 us
—~~ S |65
N
) T ) ©
Il = [0) =
=N < Q T
r+ P
= S -
l( N r B
£ oo
= <
= o 0
© , 2
= Clw
Q%5
a -
>
O w
= 0
= 0O
=
: > 2
(/)] ~ > -.w
© < < w =
& i ol
c Q N N | o=
= i Sy e S 3 Pt [t o g
= ] 5 Q
& L \ = £
© — ] - 23
e N ~ © <
5 E1E
O e
N\
i s
= =
1)
.A £ (\ S




BONDING AND ELECTRON CONFIGURATION

LECTRON CONFIGURATION (SHORT FORM)

We can represent the electron configuration \without drawing a diagram or writing down pages of
quantum numbers every time. We write the "electron configuration”.
Ve # of electrons in the subshell
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! "noble gas core".| We're saying that titanium has the same electron
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follow. [This is a useful shorthand, since the "core" electrons generally

don't get involved in bondin
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